SCS139 HW4

Tuesday, February 19, 2013 2:06 PM

a1 A(t) = 8cos(soo7t -25°) A
|

|

(a) T.= §A

¢
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(d) tz=2ms = z*w-ls

D .lt) =¢ co;(Sooﬂ'r 1"10.3-2g°) =8 cos (ﬂ' -25.)
=% cos(180°-25") = vcos(155°) =z -3.25 A
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(a) wLt) = 24 cos (wte(-157)) v
(b) 2(t) = -2 sin(10t *r70) mA =% cos (1ot r36°-90 +1%0 )
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(€) w(t) =120 sin (108 -50°) V = 120 cos (4ot -56"-a0° )
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Stan —> COS
=120 cos (10t e (-140%)) v

(d) ALty
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-0 cos (20t +10°) mA =60 cos(‘sot *10 - 18'0. ) ~A
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60 cOS(sot ?(’1?00)) mA —¢c03 —» COS

@3 we have two mvc‘cnaﬂs: >\, and )z around ©32.¢ nem
We know that kz-' x‘ = 0.09 nwn
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From C'A, we have /'= -E- ond
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47 _ - &
dx A
There fore, when AN is small,

|aflz ->°3- AN % 35602

% E _ = 5 V/m => B, Em 'x1,57sqo"1'
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